
BOARD REVIEW QUESTIONS (MM - 19) – SESSION NO. 11    January 30, 2003
DIRECTIONS:  Each of the numbered items or incomplete statements in this section is followed by answers or by comple​tions of the statement. Select the ONE lettered answer or completion that is BEST in each case and fill in the circle contain​ing the corresponding letter on the answer sheet.

1. Addition of 20 cmH2O positive end-expiratory pressure to a patient receiving controlled mechanical ventilation decreases cardiac output and left ventricular function by

(A)
increasing right ventricular preload

(B)
increasing right ventricular afterload

(C)
increasing left ventricular preload

(D)
increasing left ventricular afterload

(E)
producing myocardial ischemia

90A-11 (19,22)

2.  Increasing preload, systemic vascular resistance and heart rate will best maintain hemodynamic stability in patients with

(A)
aortic stenosis

(B)
asymmetric septal hypertrophy (IHSS)

(C) cardiac tamponade

(D) mitral regurgitation

(E) mitral stenosis

90A-34 (19,20)

3. Compared with healthy nonhypertensive patients, in patients with untreated hypertension undergoing anesthesia and operation,

(A)
cerebral ischemia may occur at higher blood pressures

(B)
intravenous fluid should be restricted before induction

(C)
left ventricular hypertrophy enhances compensation for intraoperative fluid loss

(D)
responses to sympathetic stimulation are decreased

(E)
the incidence of intraoperative hypotension is lower

90A-45 (19,20,25)

4. A 66-year-old man with aortic regurgitation is brought to the operating room for aortic valve replacement after having received morphine, scopolamine premedication. PO2 is 40 mmHg in a sample of pulmonary artery blood drawn 10 min​utes after the patient started breathing pure oxygen. This finding is compatible with

(A)
wedging of the catheter tip

(B)
left-to-right intracardiac shunt

(C)
increased intrapulmonary shunting

(D)
excessively depressed ventilation

(E)
normal cardiac output

90A-51 (19,20,21,22)

5. Pulmonary artery diastolic pressure is an unreliable indicator of left ventricular end-diastolic pressure in patients with

(A)
acute cardiogenic pulmonary edema

(B)
aortic stenosis

(C)
acute mitral regurgitation

(D)
myocardial ischemia    
(E)
severe emphysema

91B-46 (19,20)

6.  A 58-year-old man with a history of angina is undergoing resection of an abdominal aortic aneurysm under morphine, nitrous oxide, d-tubocurarine anesthesia. Just before removal of the aortic cross-clamp, heart rate is 74 bpm, blood pres​sure is 115/70 mmHg, and pulmonary artery occlusion pressure is 7 mmHg. Immediately after removal of the cross-clamp, heart rate increases to 120 bpm, blood pressure decreases to 80/55 mmHg, and pulmonary artery occlu​sion pressure decreases to 3 mmHg. The V5 lead on the EKG demonstrates sudden ST-segment depression and T-wave inversion.

Initial therapy should be

(A) reapplication of the aortic cross-clamp

(B) intravenous administration of sodium bicarbonate

(C) initiation of a phenylephrine infusion

(D) rapid expansion of blood volume by transfusion

(E) initiation of a nitroglycerin infusion

90B-12 (20,19)

7. A 62-year-old man, who had a myocardial infarction three years ago, complicated by congestive heart failure and renal failure, is undergoing a colectomy. A pulmonary artery catheter demonstrates a cardiac output higher than measure​ments recorded during a cardiac catheterization two months after the infarction. Which of the following most likely contributes to the increased cardiac output?

(A)
Creation of an arteriovenous fistula

(B)
Increased hemoglobin concentration from 10 to 12 g/dl

(C)
Stimulation of carotid body receptors

(D)
Transcutaneous nitroglycerin

(E)
Use of a beta-adrenergic blocker to prevent myocardial reinfarction

90A-97 (19,20)

8. Six hours after coronary artery bypass grafting, a pulmonary artery catheter oximeter shows a mixed venous hemoglo​bin oxygen saturation of 50%. This value may result from each of the following EXCFPT

(A) anemia

(B) fever

(C) hypovolemia

(D) respiratory alkalosis

(E) shivering

90A-102 (21,19)

9. 
lntraoperatively, the occurrence of prominent “a” waves on the central venous pressure waveform can be explained by each of the following EXCEPT

(A) acute right ventricular failure

(B) atrial flutter

(C) complete heart block

(D) onset of junctional tachycardia

(E)  ventricular pacing

90A-104 (6,19)

10. An EKG shows ventricular tachycardia in a patient with a heart rate of 160 bpm and a blood pressure of 90 / 60 mm Hg. The best initial therapeutic maneuver prior to cardioversion is

(A)
carotid sinus massage

(B)
intravenous administration of bretylium

(C)
intravenous administration of lidocaine

(D)
intravenous administration of propranolol

(E)
precordial “thump”

90B-4 (48,19)

11. A pulmonary artery catheter is placed in an awake patient breathing room air. Typical right ventricular and pulmonary artery pressure tracings are obtained. With the catheter balloon inflated, blood drawn from the distal port has a PaO2 of 100 mmHg, while a simultaneous radial artery sample has a PaO2 of 90 mmHg. These data indicate that the

(A)
shunt fraction is greater than 10%

(B)
catheter is in the wedged position

(C)
catheter has entered a pulmonary vein

(D)
cardiac output is abnormally high

(E)
oxygen electrode is malfunctioning

90B-71 (19)

12. Which of the following is the primary factor regulating normal coronary blood flow?

(A)
Aortic diastolic pressure

(B)
Coronary perfusion pressure

(C)
Heart rate

(D)
Myocardial oxygen consumption

(E)
Systolic wall tension

90A-82 (19)

13. Which of the following time concentration curves would be expected in arterial blood following intravenous injection of 
indocyanine green dye in a 3-year-old child with a small ventricular septal defect?  A
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90B-24 (19,20)
14. Each of the following statements about the blood supply of the spinal cord is true EXCEPT:

(A)
The anterior spinal artery is made up of branches from the vertebral, intercostal, and iliac arteries

(B)
The segmental blood supply of the cord depends upon the location of the arteria radicularis magna (Adamkiewicz)

(C)
The posterior spinal arteries supply most of the spinal cord

(D)
Obstruction of the inferior vena cava increases blood flow through the epidural venous plexus

(E)
The spinal cord is supplied by one anterior spinal artery and two posterior spinal arteries

90B-106 (19,25)

15. In a patient taking a beta-adrenergic blocker, the drug most likely to produce atrioventricular junctional block is

(A)
diltiazem

(B)
fentanyl

(C)
halothane

(D)
nifedipine

(E)
verapamil

91A-110 (12,19)

16. A 78-year-old man who is scheduled for an inguinal hernia repair has a preoperative ECG showing left bundle branch block.  He has had no symptoms of cardiovascular disease.  This ECG finding most likely indicates

(A)
cardiac disease

(B)
the need for spinal anesthesia

(C)
an electrolyte disturbance

(D)
the need for insertion of a temporary pacemaker 

(E) 
a normal finding in a patient of this age

91B-6 (45,19)
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17.
The preanesthetic ECG trace (lead II) shown above from a 32-year old woman suggests

(A)
potential for tachyarrhythmia

(B)
need for preanesthetic atropine

(C)
myocardial ischemia

(D)
left bundle branch block

(E)
right ventricular hypertrophy

91B-15 (19,20)

DIRECTIONS: For each of the questions or incomplete statements below, ONE or MORE of the answers or completions given is correct. On the answer sheet fill in the circle containing

A if only 1, 2 and 3 are correct,

B if only 1 and 3 are correct,

C if only 2 and 4 are correct,

D if only 4 is correct,

E if all are correct.

FOR EACH QUESTION FILL IN ONLY ONE CIRCLE ON YOUR ANSWER SHEET

DIRECTIONS SUMMARIZED


 A
B
C
D
 E

1, 2, 3
1, 3
2, 4
4
All are


only
only
only
only
correct
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18.
During posterior fossa surgery in the sitting position

(1)
a single-lumen central venous catheter should display the ECG shown above

(2)
pulmonary artery occlusion pressures greater than 10 nunHg prevent paradoxical air embolism



(3)
if venous air embolism occurs, pulmonary artery pressure increases before precordial Doppler sounds change

(4)
if venous air embolism occurs, aspiration of air from the distal lumen of a pulmonary artery catheter is less effective than aspiration from a multi-orificed central venous catheter

93B-149 (26,19)

19.  During the perioperative period, a patient with mitral stenosis may develop pulmonary edema as a result of

(1) continuing propranolol therapy through the day of surgery


(2)   mild airway obstruction from excessive premedication

(2) hyperventilation to a PaCO2 of 30 mmHg

(4)
inadequate premedication

90A-150 (20,19)

20.  A 60-year-old, 70-kg patient with a history of wide-angle glaucoma and complete heart block is to be anesthetized for insertion of a pacemaker. Atropine 0.8 mg administered intravenously before induction would

(1)
aggravate the glaucoma



(2)
increase the idioventricular rate from 48 to 60 bpm

(3)
depress the ventilatory response to inhaled carbon dioxide

(4)
increase the dead space to tidal volume ratio

91B-113 (11,19,38)
1

